Dual-Stack

EDNS0:512 EDNSQ:1232 EDNSQ:4096

NOERROR for ‘.br’

quG

EDNS0:512 EDNS

IPv4

EDNS0:512 EDNS(:1232 EDNSP:4096

All Zones without DNSSEC returnin

sui(3w( g)ouapy — 3 (x)louawy)Sop = (A) f sui(3( g)oua ) — 3 (x)louawy)Sop = (A) f sui(“30( g)oua ) — 5 (x)louawy)Sop = (A) f

Y
Y
Y

1000; X >Y
-1000; X <Y
1000;X >Y
F0;X=
-1000; X <Y
1000;X >Y
FO0;X=
-1000; X <Y

:1232 EDNSQ:4096

I Path 1280 (no PMTUD) 8 I Path 1280 (no PMTUD) 8 - Path 1280 (no PMTUD)
- 1280 (no PMTUD) ¥ - 1280 (no PMTUD) 3 - 1280 (no PMTUD)
- 1280 (PMTUD) g - 1280 (PMTUD) g - 1280 (PMTUD)
- 1500 wm - 1500 .mm - 1500
I Path 1280 (no PMTUD) 8o I Path 1280 (no PMTUD) S o I Path 1280 (no PMTUD)
- 1280 M:o PMTUD) @ ﬁ - 1280 M:o PMTUD) @ H - 1280 M:o PMTUD)
- 1280 (PMTUD) < 3 - 1280 (PMTUD) < g - 1280 (PMTUD)
- 1500 ajg - 1500 ajg - 1500
I Path 1280 (no PMTUD) o I Path 1280 (no PMTUD) S I Path 1280 (no PMTUD)
- 1280 (no PMTUD) o - 1280 (no PMTUD) o - 1280 (no PMTUD)
- 1280 (PMTUD) .9 - 1280 (PMTUD) ) - 1280 (PMTUD)
L 1500 L L 1500 & L 1500
L Path 1280 (no PMTUD) ‘m o L Path 1280 (no PMTUD) 2
- 1280 M:o PMTUD) - g - 1280 M:o PMTUD) g
- ﬂmww PMTUD) mlun 3 - ﬂmww PMTUD) 3
I~ [=] I~ [=]
R | |
I Path 1280 (no PMTUD) o s I Path 1280 (no PMTUD) © 3 - Path 1280 (no PMTUD)
L 1280 (no PMTUD) ws L 1280 (no PMTUD) S L 1280 (no PMTUD)
- ﬁmmm PMTUD) ml g - ﬁmwm PMTUD) Q=g - #mmm PMTUD)
- ol - - ol -
g | 1 |
L Path 1280 (no PMTUD) £ o L Path 1280 (no PMTUD) 2 L Path 1280 (no PMTUD)
- 1280 (no PMTUD) c 9 - 1280 (no PMTUD) x =° - 1280 (no PMTUD)
I 1280 (PMTUD) 5 9 - 1280 (PMTUD) (o - 1280 (PMTUD)
- 1500 T 3 - 1500 m 5 - 1500
I Path 1280 (no PMTUD) O o I Path 1280 (no PMTUD) n_.w 8 I Path 1280 (no PMTUD)
L 1280 (no PMTUD) W og L 1280 (no PMTUD) > ¢ L 1280 (no PMTUD)
1866 VTR o 1866 VTR 2 2 1866 VTR
B Z 3 B £ 8 B
- Path 1280 (no PMTUD) W4 S HEEE I Path 1280 (no PMTUD) .o - Path 1280 (no PMTUD)
- 1280 M:o PMTUD) <Flinl | | | | - 1280 (no PMTUD) 289 - 1280 (no PMTUD)
1280 (PMTUD) 2~ 9| IHEE I 1280 (PMTUD) 0= g 1280 (PMTUD)
- 1500 2 Z| - 1500 2 2 - 1500
I Path 1280 (no PMTUD) C o HEN I Path 1280 (no PMTUD) c o I Path 1280 (no PMTUD)
- 1280 (no PMTUD) O o WM - 1280 (no PMTUD) o & - 1280 (no PMTUD)
- 1280 (PMTUD) N m = - 1280 (PMTUD) N g - 1280 (PMTUD)
[ [ - 1500 = G nEm EEET | EEEE - 1500 = m_ - 1500
N—m“o.mzn_m Nmmﬁ“mmzom wmov”mwzom N—m“c.wzn_m_ NmN_tmmZn_m mmcv“mwzom N—m“o.wzom Nmm,_.“o.mzom omoﬁmmzom Nrm“o.wzom NmN,_.“o.wZn_m mmoﬁmmzom m—m“o.wzom wa_—“mmZDm mmov“c.wzom Nrm“o.wzom NmN_—“meDu omoﬁmeDm Nrm“o.mzom NmN_—”meDu omoﬁmeDw N—m“o.mzn_m Nmmﬁ“mwzom wmov”mwzou N—m“c.wzn_m_ NmN_tmmZn_m mmcv“mwzom

PAdI 9AdI OelS-leng PAdI 9dI oelS-lendg PAdI IdI oElS-lend



